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(Sub-Mathematics)

AT [AS2A- (General Instruction)
> qendf gUrEHT U reet F IR &

(Examinee write answer in their own words as far as practicable.)

> Pl AT B FEAT 19 B
(The total number of questions is 19)

> UF HEIT 1 ¥ UA H@EA1 7 db Afdegady un §1 s @ e ofg usl & s
QfST| u3® un &1 AT 2 e AR §)
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions . Each question carries 2 marks.)

> UH HEAT 8 ¥ UH HEAT 14 I T UH T S @ fhegl 5wl & 3R
QfST| U us & A 3 3 FAUiRa B
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 § U TCIT 19 dd Guzald U &1 598 & foheel did U8l & 3w
QST UAd g @1 A 5 3 AuiRa R
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

1. fag3iY (2,3) AT (4,0 & T HY g FTd BTN
Find the distance between points (2,3) and (4,1).

2. gfEsecA=13/12 & ,4YsinA 311X tanA BT A JTd HIFTI
If secA=13/12, then find the value of sinA and tanA.

3. HH AT HIfFAY (Evaluate):
2tan30°cos30°

4. cot85 + cos75° P 0° N 45° AT FABIUIECIT 377Ut & Ul H e HIf3rUl
Express cot85° + cos75° in term of Trigonometric ratio of angle between 0° and 45°.

5. U UG B HATE 12 cm & 31 IR B 01 7 cm 1 380 IG5 ST GG AT S0
The height of a cone is 12 cm and the radius of the base is 7 cm. Find the volume of this
cone.

6. 10 fepbe Fal H v dleqarar gRT T a1v fadbe Hr g&a7 fAFafafad & -

2,6, 4,5 0 2,1, 3, 2 3
8 3iiehsl T dgeieh FAId HIAT |

The wickets taken by a bowler in 10 cricket matches are as follows:




7.

9.

2,6,450,2,1,3,2,3
Find the mode of the data.
o1 &) i Ryder! B T 1Y ISTA § | 39D! 1 Wiidsar & a8 o0 F »H 1 fad ura
Hfl ?
Shreya tosses two different coins simultaneously. What is the probability that She gets at
least one tail ?

Sec B
39 fig & Fnie aia HIfFU 31 fag3it 1,3) 31R (1,7 & A TN YERIE B
3TafYe ¥4 & 2:3 & HquTa & fawfsa swan &
Find the coordinates of the point which divides the line segment joining the points (4,-3)
and (-1,7) internally in the ratio 2:3.

K &T HTH 3Td D10 arfes fAm diAf fag I &t

Find the value of K so that the following three points are collinear:

10.

1.

12.

13.

(2,3),(4,k), (6,-3)
=T ABC B, 51 H1UT B HHSDIUT 2,
ST AB=5cm 3R £ACB= 30" # 1 y=1134Y BC 31 AC Y vraTeat 7ima &1
In triangle ABC, right-angled at B, side AB=5 cm and ZACB = 30°. Determine the
lengths of the sides BC and AC.
& secaA = cosec (A- 20°) BY, ST6T 4A Ueh A HIUT &, A A BT AT AT HIFYI
If sec4A = cosec(A - 20°), where 4A is an acute angle, find the value of A.
3cm, 4cm 3R 5cm YST3HT aT@ U Fyst & @1 HIfSe 3R R s8d w9e 9 e
37 AT B 7T STy, TSl 4Ty 2 50 F3vsT &) 3T Y3l Y 3/4 TR 8
Construct a triangle of sides 3cm, 4cm and 5cm and then construct another triangle
similarl to it whose sides are 3/4 times the corresponding sides of the given triangle.
3em IS &1 U ga WifRw | $g @ 7em T By v g @ g9 W w@et W@
gIA & AT Hriav]
Draw a circle of radius 3cm. Construct a pair of tangents to the circle from a point
7cm away from the centre.

14. Tfaar 311z sxiter ) firg & sud! Fa1 i & 6 a1 () &b 571 e - e ?

15.

16.

17.

(i) BT 37T U &1 817 [@19 a (Leap year ) Y BI5d §UI
Savita and Hamida are two friends. What is the probability that both
(i) have different birthdays ? (ii) have the same birthday? [ Ignoring a leap year]
Seec

TP JHAT S R TSt HFR &1 311 39 fUfd & 40m 31fie el 8 St § Safes g &1
JAAY (altitude) 60° J TTHR 30° B ST & | HIFR Pt Hd1s I1d HIfT|

The shadow of a tower standing on a level ground is found to be 40 m longer when the
Sun's altitude is 30° than when it is 60°. Find the height of the tower.

31T 5cm AT U BATHR ST & HUT 4.2 cm FATH aTAT Ub HMAT AT E3HT 21 39
UHR T O1H &1 YEIT 446 JATd HIfAYI

A hemispherical block of diameter 4.2 cm is placed on top of a cubical block of side 5cm.
Find the surface area of the solid thus formed.

% MATHR HId & T DI U 90 & MHR B TG § oD dals 8cm § 3R N
2cm § Safd MATGR YFT H1 3 8.5cm & | SHH 4R T b+ alell Ul &1 AT 119 R T
= 3 U8 F1d {3 b 39 S &7 3T 345 cms 8| g HITE b 39 9= HT IR a1 §
g1 98t, T8 Ad gU % IRiad A= 3iiale A0 g
A spherical glass vessel has a cylindrical neck 8 cm long, 2 cm in diameter, the diameter
of the spherical part is 8.5 cm. By measuring the amount of water it holds, a child finds its



volume to be 345 cm® Check whether she is correct, taking the above as the inside
measurements.
18. A 3113l A A1en FATd HIfFAV:

Find the mean of following data:

qif 3TaRTA 100-150 | 150-200 | 200-250 | 250-300 | 300-350
(Class-interval)

CILCIEG| 4 5 12 2 2
(Frequency)

19. F 31153} o 5T FATd S0

Find the mode of following data:

qif 3TeaRTE 5-15 15-25 25-35 35-45 45-55 55-65
(Class-interval)

CIEGLEGL 6 11 21 23 14 5
(Frequency)




